9. /A child’s grandparents purchase a $10,000 ¢
bond fund that matures in 18 years to be used for
her college education. The bond fund pays 4%
interest compounded semiannually. How much
will the bond fund be worth at maturity? What is
the effective rate of interest? How long would it
take the bond to double in value under these
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20. The logistic growth model 4
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new cars with a Global Positioning System (GPS).
Let £ = 0 represent 2003, ¢ = 1 represent 2004, etc.
What proportion of new cars in 2003 had a GPS?
What is the maximum proportion of new cars that
will have a GPS?
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21. A sklllet is removed from an oven whose
temperature 1s 450°F and placed in a room whose
temperature is 70°F. After S minutes, the
temperature of the skillet is 400°F. How long will
it be until its temperature is 150°F?
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22. The half-life of radioactive cobalt is 5.27 4
years. If 100 grams is present now, how much
will be present in 20 years?
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Use transformations to graph the functions below. (Show your tables or sketch a graph of each transformation.)
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